
1) 40 ÷ 4

Answer: ____________

2) 7.1 + 2.6

Answer: ____________

3) 6 + 1.4

Answer: ____________

4) 6 + 1.4

Answer: ____________

5) 5.8 - 8.4

Answer: ____________

6) Find the mean of the following set of data:

3, 10, 1, 4

Answer: ____________

7) Find the mode of the following set of data:

9, 9, 5, 5

Answer: ____________

8) 5.9 + 2.6

Answer: ____________

9) 1.4 - 3.8

Answer: ____________

10) 24 ÷ 4

Answer: ____________

11) 'What is the probability of rolling a 
multiple of 1.when rolling a dice

Answer: ____________

12)

Name the type of angle.

Answer: ____________

13) Solve by factorising 
s2 + 9s + 14 = 0

Answer: ____________

14) 10 - 7

Answer: ____________

15) 09:01 am To 10:13 am

Answer: ____________
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16) 01:33 am To 03:14 am

Answer: ____________

17) Find the mean of the following set of data:

8, 3, 5, 9

Answer: ____________

18) 6 x 100

Answer: ____________

19) Convert the following improper 
fraction 14/7 + 13/7 to a mixed 
number

Answer: ____________

20) 1/11 of 88

Answer: ____________

Total: ___ / 20
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Answers:

1) 10 2) 9.7 3) 7.4 4) 7.4 5) -2.6 6) 4.5 7) 5

8) 8.5 9) -2.4 10) 6 11) 1/1 12) Acute 13) s = -2 or -7 14) 3

15) 01 Hours 12 Mins 16) 01 Hours 41 Mins 17) 6.25 18) 600 19) 3 20) 8
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